HX BN O R OE$ (k24511 A 1 B BAE)

FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa Ehellic Hi[X 4 JLRE 4 a Elcat i
% o | s | | & | #REK 7 | ke || B | & [#EK

1 =57 799  908| 904 1,812 4 1 3 4 40 A H 258  340|  344| 684

2| A (fE) 1,005 1,188| 1,239 2,427 44 P 3 3 3 6

4 e 506| 531 545 1,076 45 JH/ | 108 89 83 172

5 Jbs e <F 354 489 462 951 38 48 k= 417 451 521 972

6 U= 264  434| 389 823 49 HOFA 298|  326| 355| 681

8| Al (fF) 348 391 422 813 50 LD HL 369 390 454 844

10 P 208|  203| 225| 428 52 [iE)7238 429  494|  521| 1,015

11 A H 53]  N\ENRE 461 452 548 1,000

14 _E 6 12 7 19 55 oo B 359  398| 444 842

15| BAEHISE 1,250| 1,530| 1,648| 3,178 56 R 258 268 320 588

16 FERISE 1,021 1,446| 1,487 2,933 57 B i 170 197 209 406

17 W2 375 385 450 835 58 — 183 178| 215 393

18 &7 R 317| 422|428 850 59 N 206  230] 250 480

19 SEC A 25 28 21 49 60| BN 1T H 214 231 231 462

20 A H 1,174| 1,401 1,368| 2,769 103 61| mE1TH 114 122 139] 261

22 FikF 830| 1,004| 1,089| 2,093 62| wmHE2TH 154 183 221 404

23 A 280 337 345 682 63| mHE3TH 197 204 237 441

24 HHN 903| 1,030 1,130 2,160 64| mE4TH 73 92 86 178

25 VALl 65 /INRHHT 416 491 506 997

27 oKW TH 262| 271 345 616 66| HRH 197 231 237 468

29|  FHEHAE 16 16 16 67 = 110 129 149 278

31 L 79 97 101 198 68| TG 27T B 217 248 271 519

33 KL 321 377| 410|787 69 SR 146 1771 208 385

38 FoYAN 156 193 175 368

9| AN E 143|200 208| 408 7t 15,999| 18,817| 19,950 38,767| 145| 142 145




MBI O R O R E (FEpk244E11 A 1 H EB17E)

FEFRoR X FJEZR R
AR OB T AR OB WY
H1 X A4 QLIRS Hi1 X 44 QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 477\ 473 483  956| 20 20 20( |391| #MT1TH 456 487|479 966
312| %2 TH 186 228  227| 455 392| 2T H 110 113 111 224
321 ME1ITH 414 394 410 804 393 W31 H
329| fE2TH 665 681 697| 1,378 411 KRE1TH 372 396 419 815
323| ME3TH 451 512 489 1,001 412| KM2TH 357 421 470 891
331 BAH1TH 565| 537|517 1,054| 28| 28 28| | 413 AMSTH 269  276| 270 546
332 BAHZ2TH 390  421| 450 871 414 A4 TH 403 402| 420 822
333| BAM3TH 415 387| 411 798 431 WE/HTTT H 403 455 494|949
334| BAH4TH 617| 648|  778| 1,426 439| WE/HT2T H 855  966| 1,075 2,041
341| K1 TH 749 748\  751| 1,499 57| 57 57 | 440 kS 647|  734| 770 1,504
342| RMH2T H 311 370 353 723 3 2 1 3| | 451 EFWS1ITH 440 496 553| 1,049
343| R#3TH 388  455| 463 918 452| EFIR2TH 260  251|  311| 562
344| R4 TH 273 281 344 625 461 —XCE1TH 808| 1,038| 1,056( 2,094
345 RA5TH 406  404| 488 892 462| —3XH&E2 T H 638  738|  749| 1,487
351 KM1TH 914 877 953 1,830 4711 AHITH 47 56 70 126
350 EM2TH 954/ 859 992 1,851 472 AH2TH 214  282| 278 560
353 KM3TH 695  719|  781| 1,500 9| 5| 4| 9| |473| S H3TH 175 221 226 447
361| HAPE1T B 284| 280 234 514 84| 72| 12| 84| |474| S HE4TH 315 443 477 920
362| HAHEZ2TH 403| 452 478|930 475 AH5TH 265  324|  348| 672
370 o5 7 < 585|  647|  626| 1,273 22| 22 22
381 AH1TH 200 290 248 538
382| AH2TH 709| 1,039 1,020| 2,059 = 18,385| 20,170| 21,106| 41,276 223| 206| 17| 223
383 AH3TH 300  369| 337 706 N 34,384 38,987| 41,056| 80,043| 368| 348 20| 368




